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QUESTION 1

You plan to deploy a set of SRX Series devices in an active/passive chassis cluster with an active/active network
infrastructure.

Which two statements are true in this scenario? (Choose two.)

A. This deployment scenario is recommended when firewall services are used extensively for north-south traffic.
B. This deployment scenario is recommended when firewall services are used extensively for east-west traffic.
C. End-host traffic is serviced through one SRX node during non-failure conditions.

D. End-host traffic is serviced through both SRX nodes during non-failure conditions.

Correct Answer: AC

QUESTION 2

Click the Exhibit button. You are creating a resilient IP fabric for a data center based on a Clos architecture. Referring to
the exhibit, which statement is true?
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A. A physical link must be added between spine 2 and spine 3 and between spine 1 and spine 4.

B. Additional physical links between spine 1 and spine 2 and between spine 3 and spine 4 must be added for resiliency.
C. No physical links need to be added or removed.

D. The physical links between spine 1 and spine 2 and between spine 3 and spine 4 must be removed.

Correct Answer: D
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QUESTION 3

Which statement is true about highly available data center architectures?

A. All data center devices require the same level of uptime.

B. They require the use of a services block for non switching/routing devices.
C. They are never segmented into zones or PoDs.

D. During a failure, a data center should gracefully degrade.

Correct Answer: B

QUESTION 4
A customer asks you if they should implement nonstop active routing (NSR) in some cases to replace
graceful restart in their data center.

In this scenario, which two statements are true? (Choose two.)

A. NSR saves routing protocol information by running the routing protocol process (rpd) on the backup Routing Engine.

B. NSR is self-contained and does not rely on helper routers (or switches) to assist the routing platform in restoring

routing protocol information.

C. NSR accounts for large and small traffic flows to ensure coherent forwarding path selection during failover.

D. NSR delivers TCP/UDP stream status reducing control plane stress for other networking devices through

concatenated announcements from the routing protocol process (rpd)

Correct Answer:. AB

QUESTION 5

Your company is deploying a private cloud based on OpenStack and has selected Contrail Networking as their SDN

controller. Which statement is true in this scenario?

A. All bare-metal servers must run a vSRX instance for overlay tunneling.
B. All virtualized servers must run a vSRX instance for overlay tunneling
C. All bare-metal serer must run a vRouter for overlay tunneling

D. All virtualized servers must run a vRouter for overlay tunneling

Correct Answer: BC
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